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Please check whether you have got the right questlon paper

N.B: 1. All the questions are compulsory. :
2... Working Notes shall form part of your answer
3. Use of Simple calculator is permitted.

Q.1 Answer any two of the following:

- a) Difference between Investment & Gambling. Explain in detail‘ '

b) What are the factors involved in selection of mvestment Alternatlves 7
¢) Explain the concept of Large Cap, Mid Cap & Small Cap stocks :

- (a5)

Q.2 Attempt any two:

a) Distinguish between Systematic and Unsystematlchsk. SRVEL : ot iy
b) The rate of return on stocks of Stork Itd & Kite- Ltd under dlfferent states of eco my are
presented below along with the probablhty of th occurrence of each state of the economy.

Particular Normal Recesswn

Probability i Sl ; L8803
Rate of return on stocks of Stork Ltd (%) e <7480
Rate of return on stocks of,KLte Ltd (%) &7 40

Calculate the expected: rate of return and standard dev1at10n of return for both companies. Also
advise investor for his dec151on ofmvestment : g
¢) Find out the beta of Securlty Tlger Ltd from the follov%formatlon

Perlod Return on securlty (%) Return on market portfolio (%)
1 S PR S EF ORI TP
33 > 18
V HT 16
X 20

Q.3 Attempt any two (15)

a) Whati is portfoho management7 Fxplam ob]ectlve of portfoho Management.
b) Whatis techmcal Analy51s7 Explam assumptlons in detail.
c) The followmg mformatlon 1s vailable in respect of 2 companies namely.

8 2 "o Partxculars ity Yuhina ltd | Monal Ltd

Equlty Share Capltal (Rs 10 each) | 8001lacs | 1000 lacs

2% pref shares capital 100 Lacs | 200 Lacs
« Profit be{fore tax 400 Lacs | 600 Lacs
k Tax rate 30% 30%
__ Dividend per share Rs 3 Rs 2
_* Market price per share 150 120
You are requlred to _
calculate ; 5
gl Earnlng per Share
P/Eratio:

2
- 3. ‘Dividend Payout ratio
4. Return.on Total Capital

Page 1 of 2



Also advise as to which company should be preferred for investing in.
- Attempt any two:

a) Explain Efficient Market theory?
b) Solve the following for Eagle Ltd.

5.\. «

particulars | Initial price
Bulbul Ltd 13
Sparrow Ltd 20

Oriole Ltd 24

”

Risk free return may be taken at 10% (P,
You are required to calculate Average Returﬁ or

rl stﬁveyears
The risk free return is 8%. o

Mutual Fund Return ¢
Lion ltd 15%
FoxLtd ' .| 13%

Leopar_d ;L.th. - 1}41'2%'

performed better?

Case study:

(15)
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